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SECTION-A (HISTORY )

Match the following:

Column A Column B

A.Liberty, Equality, Fraternity 1. Maximilien Robespierre
B.Abolition of slavery 2. Napoleon Bonaparte
C.Republican government 3. The French Revolution
D.Defeated in Waterloo in 1815 4. Convention

Options:

(a) A-3, B-1, C-2, D4

(b) A-3, B-4, C-1, D-2

(c) A-3, B-1, C-4, D-2

(d) A-1, B-3, C-4, D-2

Which period in French history is known as the Reign of Terror? Give reasons

Analyze the events and effects of the February Revolution 1917.

MAP SKILL - BASED QUESTION (2marks)

Two items (A) and (B) are shown in the given outline map of France. Identify
these items with the help of the following information and write their correct
names on the lines marked on the map.

oL®]

(A) Name the city from which the name of the National anthem of France is
inspired.
(B) Port city owed its economic prosperity to the flourishing slave trade




SECTION- B (GEOGRAPHY)

Read the information given below and select the correct option:
Geeta lives in the area of one of the most recent landforms in India. According
to geology,lt is the most unstable landform in the country. Which physiographic
division is she living in?

(a) The Himalayan Mountains (b) The Northern plains

(c ) The Island (d) The Great Indian desert

Read the source given below and answer the questions that follow:-
Winter is the coldest season in India, especially in the northern and
northwestern regions, where temperatures often dip below 5°C. The season is
dry and clear, with the absence of monsoon rains. In the southern regions, the
weather is much milder, and temperatures remain above 20°C. The northern
areas experience fog and mist, while the southern areas have more comfortable
weather conditions due to the moderating influence of the ocean.Humidity levels
tend to remain higher in the southern regions compared to the north, which
experiences dry air. Southern India also does not face any snowfall or fog,
making its winter season considerably more temperate compared to the harsh
cold in the north.

6.1 What weather phenomenon is common in northern India during the winter
season? (1)

6.2 Why can a city in northern India have temperatures below 5°C while a city
in southern India remains above 20°C at the same time?(1)

6.3 Considering agriculture, which region’s winter is more favorable for
crops—north or south? Give reasons.(2)

Evaluate the importance of Rivers in the socio-economic and cultural life of
India.

MAP SKILL - BASED QUESTION (2marks)
On the political map of India locate and label any two of the following with
suitable symbols.
(i) Capital of Karnataka
(i) Aravali range
(iii) Chilika lake

SECTION- C (POLITICAL SCIENCE)

Which one of the following is an advantage of electoral competition?

()t provides incentives to the political parties and leaders to raise issues that
people want to be raised.

(ii)Parties and candidates often use dirty tricks to win elections.

(a) only (i) (b) only (ii)

(c) both (i) and (ii) (d) neither (i) nor (ii)

10

Long years ago we tried it with destiny, and now the time comes when we shall
redeem our pledge, not wholly or in full measure, but very substantially. At the
stroke of midnight when the world sleeps, India will awake to life and freedom.'
Identify the leader

(a) Mahatma Gandhi (b) Dr BR Ambedkar

(c) Jawaharlal Nehru (d) Sarojini Naidu




11

Study the picture and answer the following question.

The image captures the spirit of South Africa today. South Africans call
themselves a ‘rainbow nation’. Can you guess why?

(a)There are Whites, Black, Coloured people and Indians in South Africa who
have different skin colours.

(b)They are living and working together as one people unified like the colours of
a rainbow.

(c) Now the transformation of South Africa is truly shared by all its people

(d) All of the above

12

Differentiate between the ideas of the Bolsheviks and the Mensheviks.

13

The Election commission of India is very powerful. Support the statement with
suitable arguments.

OR
How is people's participation in elections measured? How can it be said that
elections are becoming popular in India and drawing people's attention.

SECTION- D (ECONOMICS )

14

Kabir along with five other members of his family worked as a farmer and
produced 50 tons of wheat. Due to some dispute in the family, two members
opted out of family business, but still remaining members of the family are able
to produce 50 tons of wheat.

Which kind of unemployment the members of the family were facing?

(a) Disguised unemployed  (b) Seasonal unemployment

(c)Bothaand b (d) None of the above

15

Identify the Non Economic activity :
(a) Mother doing household work  (b) Washer man washing clothes of people
(c) Chef cooking food in the hotel  (d) All of the above

16

A school in a remote village lacks basic infrastructure like toilets, libraries, and
science labs. The government introduces a scheme to upgrade school facilities




and provide quality education for all students.

Which scheme is being referred to?
(a) Mid-Day Meal Scheme

(b) Samagra Shiksha

(c) National Digital Education Mission
(d) Skill India

17 | Evaluate the effectiveness of the PM POSHAN Abhiyan in addressing the
problem of classroom hunger in India.
18 | Compare the poverty situation in different states of India. Analyze the

differences in their strategies for poverty reduction .
OR
Analyse the impact of education on the quality of human resources in India.




